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There are 30 questions in all in this Section. All questions are compulsory.
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As a result of cooperative learning
among the learners

(A) learners become self-reliant

(B) all learners learn equally

(C) learners' motivation declines

(D) they do not feel the needs for

teachers.
_Which one is correct ?
The gifted children

(A) are always calm and quiet

(B) always behave extraordinarily
(C) solve problem quickly

(D) perform any task quickly.

How can you remove anxiety from the
learners ?

(A) By never imposing punishment

(B) By granting complete freedom in
the classroom

(C) By showing no bias to anybody

(D) By advising them not to be

anxious.

The way of teaching the learners
about environment is

(A) to get them acquainted directly
with the environment

(B) to make them aware about the
various problems of environment

(C) to teach the environment related
contents in various subjects

(D) to teach environmental science.

[P.T.O.
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According to Vygotsky

(A) culture is the outcome of

education

(B) culture is the tradition of
education

(C) culture is the only determinant
of education

(D) culture is the facilitating factor
of learning.

Mathematics learning of children

depends on

(A) maturation

(B) intellectual ability

(C) interest

(D) development of
reasoning,

Which one of the following is not

related to creativity ?

(A) To think quickly

(B) To perceive relation between
impossible things

(C) Work hard continuously

(D) To solve problem in a novel way.

How can one understand the extent
of student's learning readiness ?

(A) Spontaneous interest
(B) Correct answer to the teacher's

spatial

question

(C) Requesting teacher to dictate
. notes -

(D) Completion of home  task
regularly.

In examination copy most of the

students have committed error in

answering a question. What may be

the probable cause ?

(A) They did not pay attention in the
classroom

(B) They did not study it at home

(C) The language of the question
was not proper

(D) The teacher did not say that it
was important.
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Sometimes the first generation
learners may be inattentive in the
class, because

(A)

there is none to help at home

(B) has to perform many household
work

(C) there is lack of effort in studies

(D) difficulty in understanding the

teacher's language.

Who is known as the father of child
centric education ?

(A)
(B)
(€)
(D)
Who conducted the factor analysis of
intelligence first of all ?

(A) Thurstone

(B) Gardner

(C) Carroll

(D) Spearman.

Reading of literature is essential for
children because the child

Dewey
Froebel
Montessori
Rousseau.

(A) acquires knowledge

(B) develops imagination
(C) acquires difficult words
(D) builds character.

Individual differences occur among
children due to

(A) heredity only

(B) environment only
(C) growth
(D) combination of first two.

What may be the probable cause of
mistake in writing the same spelling
repeatedly ? '

(A) Learning disability

(B) Low vision
(C) Tendency to commit mistake
(D) Low intelligence.

[ P.T.O.
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What is the duty of teacher in

generating motivation among the

learners ?

(A) To advise the learners from time
to time

(B) To rebuke occasionally for
mistakes

(C) T‘o accept the level of success as

one can attain
(D)

How can the interest of the learners

To maintain very high standard.

be maintained ?

(A) To deliver good lectures

(B) To cite good examples from the
text-books

(©) To cite examples from the
learners' familiar environment

(D) To check studies everyday.

The knowledge of learners' emotion is.

essential for teacher. One of its

reasons is, teacher can

(A) remove anxiety of the learners
(B) control anger of the learners
(C) keep the learners quiet by

threats of examinaiion
(D)
Which one of the Acts is not related to

stop amusing behaviour.

inclusive education ?

(A) Right to Education

(B) Prevention of Child Labour

(C) Prevention of Corporal
Punishment

(D) Custody of the $pccial Need
Children.
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What is the - meaning of

comprehensive evaluation ?

(A) Evaluation of the whole
curriculum

(B) Evaluation of all-round
development

(C) Evaluation of the whole
intellectual ability .

(D) Evaluation of all students
simultaneously.

Effective way to know about a

student is

(A) evaluation

(B) play

(C) wvisit his home

(D) observation.

What will you do if a student is
repeatedly  teased by another
classmate ?

(A) Punishment of the classmate
(B) Separate sitting arrangement
(C) Counselling of the classmate
(D) Call the guardian.

How can teacher identify brilliant
students ?

(A) On their examination result

(B) Observing their classroom
behaviour

(C) Getting family history

(D) Based on .the relationship w1th

other students.
What is the best way for a teacher to
maintain discipline in the classroom ?

(A) To assign group tasks

(B) To lecture about the need of
discipline

(C) To lodge complaint with the
headmaster

(D) 'To impose strict punishment.

[ P.T.O.
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Cause of failure of students is

(A) lack of memorization power
(B) mnot to strive for assimilation
(C) absence of frequent tests
(D) mnot to follow the teacher.

Modern education system is

(A) curriculum centric

(B) child centric

(C) bookish

(D) teacher centric.

What is meant by concept ?
(A) Specific knowledge

(B) Judgement :

(C) Picture

(D) Imagination.

In which stage of life development
does child start to speak ?

(A) Infancy

(B) Late childhood

(C) Adolescence

(D) Early childhood.

The first socialization of a child is
facilitated by

(A) language

(B) isolation

(C) observation

(D) independence.

Concept formation depends on
(A) learning

(B) transfer

(C) vision

(D) imagination.
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SECTION - 1I
Language - English
There are 30 gquestions in all in this Section. ‘
All questions are compulsory.
| Part - A

Direction : Read the following passage and answer the questions ( 31/61 — 38/68 ) that
follow :

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books
about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve
one baffling mystery after another. The Hardy Boys were so popular among young boys
that in 1930 a similar series was created for girls featuring a sixteen year old detective
Nancy Drew. The cover of volume of The Hardy Boys states that the author of the series
is Franklin W. Dixon; the Nancy Drew mystery stories are supposedly written by
Carolene Keene. Over the years, though, many fans of both the series have been
surprised to find out that Franklin W. Dixon and Carolene Keene are not real people.
Who then wrote these books ?

The books were written through a process called ghost writing. A ghost writer
writes a book according to a specific formula. While they are paid for writing, their
authorship is not acknowledged and their names do not appear on the published
books. '

The initial idea for both The Hardy Boys and the Nancy Drew series was
developed by Edward Stratemeyer, who owned a publishing company that specialized
in children's ‘books. Stratemeyer noticed increasing popularity of mysteries among
adults and surmised that children would enjoy reading mysteries about younger
detectives with whom they could identify themselves. He first developed each book with
an outline describing plot and setting. Once that is completed he hired a ghost writer to
convert it into a book slightly over 200 pages. Once Stratemeyer approved the book, it
went to the print.

Both the series ran for so many years and that is why, both of them had a number
of different ghost writers. However the first writer for each series proved to be the most
influential. He was a Canadian journalist by the name of Lesliec McFarlane. A few years
later Mildred A. Wirt, a young writer from Iowa, began writing the Nancy Drew books.
Although they were using prepared outlines both developed character themselves. Wirt
had been a star college athlete and gave Nancy a similar ability. McFarlane used
elements of his small Canadian town to create Bayport, the Hardy Boys' fictional
hometown. Although both the books were popular with children, not everyone
approved of them. Critics thought the plots were unrealistic. Many teachers and
librarians objected to the ghost-writing process, claiming it was designed to produce
books quickly rather than create quality literature. Some libraries — including the New
York Public Library — even refused to include the books in their children’s collection.
Ironically this decision actually triggered the sales of the books.

Regardless of the controversies about their literary merit, each series of books has
exerted an undeniable influence on American and even global culture.

486001 6001 [ P.T.O.
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Some teachers and librarians objected to the ghost writing series because they
(A) disapproved of mystery stories
(B) thought that the books were too expensive
(C)  believed that the books were not quality literature
(D) disliked the business practice behind the series.
Which of the following describes the author's attitude towards the series ?
(A)  Balanced and respectful (B) Doubtful and critical
(C)  Hostile but forgiving (D)  Overwhelmingly appreciative.
According to the passage the Nancy Drew mystery series was introduced in
(A) 1927 (B) I 1925
(C) 1929 (D) 1930.
Which would be the appropriate title of the passage ?
(A) Ghost Writing : A Way of Life _
(B) The Dubious Yet Profitable Practice of Ghost Writing
(C) The Hardy Boys and Nancy Drew : A Ghost Writing Series
(D) A Critique of Ghost Writing.
Who was the real writer of the series according to the passage ?
(A) Carolene Keene | (B) Franklin W. Dixon
(C)  Leslie McFarlane (D) Hardy.
A ghost writer is someone who
(A) - writes about ghosts and strange events
(B) does not receive credit as an author
(C) invokes spirits and supernatural elements to write
(D) takes lot of money for writing.
What does the word 'surmised' mean ?
(A) Guessed (B) Questioned

(C) Knew (D) Surprised.
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38/68. The Hardy Boys and Nancy Drew series were created on the idea that
(A) mystery books for adults are popular
(B) children enjoy reading about characters they can relate to
(C) girls and boys are not interested in the same thing

(D) fhe writer needed money.
Direction : Read the following poem and answer the questions (39/69 — 45/75) that follow :
Futility
Move him into the sun —
Gently its touch awoke him once,
At home, whispering of fields unsown.
Always it awoke him, even in France.
Until this morning and this snow,
If anything might rouse him now
The kind old sun will know.
Think how it wakes the seeds —
Woke, once, the clays of a cold star.
Are limbs so dear-achieved, are sides
Full-nerved, — still warm, — too hard to stir 7
Was it for this the clay grew tall ?
— Or what made fatuous sunbeams toil
To break earth's sleep at all ?

39/69. "... what made fatuous sunbeams toil ..." is an example of
(A) synecdoche : (B) periphrasis
(C) personification (D) simile.
40/70. The general tone of the poem can be described as
"(A) sad and tragic (B) full of mirth
(C) satirical (D) humorous.
41/71. The meaning of the line "Woke, once, the clays of a cold star” is

(A) broke the cold star into pieces
(B) brought life into the cold planet now called earth
(C) made the clays of the planet

(D) made a cold star warm.

486001 6001 [ BRI,
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42/72. If anything is capable of awakening "him" it is

(A) the warmth of the sun (B) the sun alone knows

(C) the daylight I (D) the morning snow.
43/73. The poet "urges to move him into the sun " because

(A) it is warm (B) it woke him once earlier

(C) it is day-time . (D) it will ease his pain.
44/74. The sun "always" woke him in

(A) England (B) India

(C) Italy (D) France.
45/75. "Was it for this the day grew tall" — is an example of

(A) metaphor (B) metonymy

(C) chiasmus (D) alliteration.

Part - B

Direction : Answer the following questions by selecting one option :
46/76. How can language comprehension and proficiency be evaluated ?

(A) By evaluating all the four skills in different periods of time throughout the
course

(B) By evaluating all the four skills at th(‘i‘. end of the course
(C) By evaluating only reading and writing
(D) By evaluating only speaking and listening.

| 47/77. What is the main challenge of teaching language in a diverse classroom ?
(A) Facing slow and weak learners
(B) Facing a mixed-ability group of learners
(C) I Facing infrastructural problems
(D) Facing the good students in the class.

48/78. While using problem solving method the teacher should

(A) participate actively in the process
(B) encourage divergent thinking
(C) ask the students to consult their parents

(D) look at the students' activities from a distance.

© 486001
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'Overlearning' is the term used to describe
(A) practice that continues after a perfect recall has been achieved

(B) the practice of learning over and beyond the requirement of a particular
class / age

(C) the practice of spending too much time on studies

(D) the practice of overburdening the students with tasks.
Tasks to improve spelling should not include

(A) reading (B) listening

(C) writing (D) use of dictionary.
Giving dictation is not useful for

(A) learning the correct form of the langua'ge

(B) developing language skills

(C) developing short term memory

(D) helping students to spell correctly.

Gender stereotypes can be discouraged by

(A) helping the boys to accept failure

(B) encouraging girls to take up sports

(C) asking girls to arrange for the snacks in a class picnic

(D) encouraging girls to take up challenging jobs in life.
Abstract intelligence tests

(A) verbal skills

(B) manual dexterity

(C) numerical ability

(D) manipulation of symbols.

Today emphasis should be given to

(A) electronic gadgets used for teaching-learning process
(B) chalk-and-talk method of teaching-learning process
(C) learning through foreign collaboration

(D) value based teaching-learning process.

6001 FRIP.O,
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55/85. Effective learning takes place when the students are
I (A) quiet (B) obedient

(C) interactive (D)  preparing for examinations.
56/86. A teacher can best develop communicative skills with the students by

(A)  encouraging to speak in that language continuously
(B) giving dictation
(C)  correcting grammar and spellings

(D)  giving students homeworks in that language.

57/87. While communicating ideas in written form grammar has
(A) akey role (B) norole
(C) liberal role (D) none of these.

58/88. Key principle of language teaching is
(A) to motivate the students in the process of learning
(B) to facilitate the learner-centered classroom activities
(C) to maintain discipline in the class
(D)  to show the teacher's mastery over language.

59/89. In a language-teaching class the primary skill(s) to be developed in children is/

are
(A) Listening (B) Speaking
(C) Listening and Speaking (D) Writing.

60/90. A multi-lingual classroom is
(A) students with different mother tongues
(B) students coming from different regions
(C) students with different cultures

(D) students with different social backgrounds.
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Section - II
Language - Hindi
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There are 30 questions in all in this Section. All questions are compulsory.

_ Part - A _
Few: frefafaa vaie veet 39 emer W feu g el ( 999 9= 31/61 9 36/66 % ) %
IR F fau gaa sfEa fawen 9T .
" s1| 7 el Jig H g9 | ",
i e H S 1 WE
T TR TR 9 7 W,
ITEV ITATHA HOA I @I E |
FEq H A T IS0 W qH,
oAl § faett ged @ A |
e g SR § TeA A g
TS G T TR 37 @R
31/61. &0 Hic § d@H %1 ¥ HY § ? _
(A) T H 9T B B it g
(€) 'ﬁwﬁw : (D) feamEF g
32/62. % @A FI HEl A& 9= M ?
(4) e A . (B) o TEWE W
(C) el qd o gl (D) TE H T W |

33/63. wfa fa We F =Afeal A F=afaa W@ T ?
(A) S sty Ifta €
B) St aga ufigt €
(C) S ST Ft FSR ARATTFMSA | dGHR T

(D) S S K FHadl w A AR T
486001 | 6001 | [ P.T.O.



22

34/64. Ffa < FI F SO AT T ?

@A)
(B)
(€)

aifer @ Tid ga T
e weal # foeiraa on v ok 3 wifa & 99 W o ug g
g% ¥ T ¢ 3y

(D) 4% fa &1 <faa T |
35/65. ‘e FEEA T 9 A 7' —
Gfsd # HH-| SAFR 7 ?

@) B) SUH
(C) & 95 (D) F9E |
36/66. FHfFar F1 TR WdF & TFA ? -
(a) ed (B) wHiamEd
(C) 3TahTEI (D) wmfa i
fewr:  frafafes Taw = 9eet 396 18R W Ry T weE ( 9 @EE 37/67 9 45/75 9% )
F IW & forg wad 3fem fasrew 9w .

o &1 9T FuF 9gd 3t € 5 fauar & fom s &1 2 o =1 1 3w I m o oww
@ A € o sroreEeR % fau widt aga amfas w@dam weavEs @ — 9’ 39
i # AREE AR Fua S @1 Ao §1 3 9R 9% Tud €1 d 39 €1 | 9% 9
fafyem & foF W W TAfergd® e ad e W § S9E fen 98 o st 2
fored senfrsizar et @ it @ o3 0 & o7& @21 g I ® | ga HuE we
B TE AT 5 57 9gd &9 9m S €, 9 g ey § 9% 9gd A" ® SR Iua
HATHIAT SHRT Arad | FEl 9@1 T2 ¢ | 9 39 96 1 LAH @ e & 9w a9 =i
F G WY, B 3R aWER el Q@ FHIHe H HEER WY, 4 90 AH-q4ie & fo
SHava® § | 98 9 §EN, S $9 §6 € iR S % W ¥ — TER YR, BER S,
TOR &, TR o7, TUR R IR GEY HI 90, TN 9gd § 7@, 3R 4912 v §E
AT F1 SEEIFA T T E F T A e F AW T A | Fow F 7w st
T ¥ e § o FRo a7 T w1 g aear @ Fored swe g eftnn ok swet
T 6T B Wt ¥, s SR see & 999 ot 99 e € 3R o ugA W e 9 fa
wra o1 fvfg Y X gar | TS @ 9S 39 o9H B wY ¥, 39 9% 9w fom @
WU | Feet e 98l § W Wedsh g9 ¥ yeies feufa & Wi vl Te ey et ®

37/67. B 1 Sitaq oFdtd A ded § 2

A
©
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41/71.
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@
43/73.

44/74.
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(A)  3TTH-TART

(C) W el

‘g @ wfu-faede €
(A) W + EEF

(C) THE + MEITF

‘arfim wes W IoEe o - faee wEt 2

@A) ¥+ AF (B)

(C) %+ 384 D)

TEA TR S SR e

(A) Ty (B)

(C) oTeR-HArRT 3R T (D)
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(©) Hehed (D)
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() FHER (B)

(C) TIeH (D)
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A 9TEH (B)

(C) rwemed (D)
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~ Part - B
frdwr:  fretforfaa wel & It & folg W Suge fashed ST :
46/76. MafF T W ' GHA-Aa’ Hea & faewm ¥ $7-6 f&fear stus gems € 2
(A) HEH-FIA SR FaorE
(B) whfoar-ue R rar-yErmemen
€ Yyfym-frafe ( o< ) iR guER-a=A
(D) yfr-frafe iR sw=a F |
47/77. F=91 B WI-YATE 901 ifeheh Ve 1 Yediha 4 2q I9G ¢

) fofea wdemd B) wifa® awiers
(C) =afE wam (D) T ¥ HE T |

48/78. ¥ AR W%m%ﬁﬁmmawwmmwm%ﬁﬁw
¥ wiedi ® ura foren o w1 ¥ @A 2
(A) HHIS & B) =HEF
C) EHF (D) T qHE T |

49/79. U e =l wmor verd w53 =1 ° @ g aeaw & wan geyes w5 e ?
(A) ST H (B) HM ST H s
(€ vamYE & | . D) ¥H qS3 & |

50/80. UEEl el ¥ YgAdrel gl g 'S’ a6l Yl 1 SERY Toid dlith | widl & | TR H S F®a
H 2

@) T8 A W e Fo T ¥ forw 3

B) SR T T TR R o IS A F ferw

© SE R T A e g | |

(D) = ‘S’ e vl ) WES WE @ IHEH GHE T T SHY Sy Ser 6 1eErE wdd |
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‘T SERTE qor Agifas s g 1Y
T HYA 9 Y
(A) Yofd: Gend § (B)  3ivid: WEHd ¥

() foega wewa 7=l € (D) Fewd € off R T ot |
e § fey 7y fasl &1 #=0 3em W @ ? |

(a) o smpd wheaTet it wEH § WerE A §

B) Tesil & YIS Sy St &

(©) foA we =t 9w sew §

(D) vEagEE H fad €7 &1 yEed € |

frefafaa § @ 59 = foem e armft § aetdifenr e w8 € 2
(A) =afad B) g

© e (D) UTIEE |

e o | o SYERICHS W-fe ¥ T wHEn Rl © 2

() e e o T S S A o

(B) ﬁmmmaﬂm‘ﬁﬁﬁﬁﬂﬁ

() em =1 ved Tuy A et syfedl 1 yEm

(D) T & |+ | -

TreAfie T W SATEhT e @t gatgged yoneft €

(A) TSEITEE Fome (B) H9aH YUl

(C) ey HaT yorett (D) AT gt |
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56/86. F& H FB = T AdA1 H FAN Fd g for@d € | 3R gurA & g ey a2

(&) 38 TF He iR wwifas wfsran Are ge wen § iz’ a9g wele w5 fmin w6
(B) V&l #I TH-TH AR Wl ol 9 forma & fag weh
(©) == = ITHT qfeAl 1 A HAAN
(D) T FAT A TR R A R W AW A HIE qEA |
57/87. HE &% F© o=l W WS HaH faHR €, 9 39 30 fakR A X FW & fow W= H 2
(&) = | Fed fF d go § e wg ey i
(B) =i % TraT-faar F et ST I HIH F Fed
(C) o= & FHe-H& H g TS Hlehl & HAIE HAN
(D) 3 F |
58/88. w=dl 1 Wik Vel fhd FEd € ?
(&) o= v = ored 9= o §
B) 5= yr=df & =4 afifed €
(©) fom wedl &1 wanT o= Sd €
(D) fom ol 1 ed o= S # iR WA e §
59/89. ¥=i H HiE & AR THaE YHEYY 9Edd §
-[AJ ZaeR § gftad (B) ¥« vgfudl # uftads
(C) =afFama Jonadt | wRad (D) 3T | FE @
60/90. U GHa¥ &a § -9 %o wrw-foe & fogid & wfaga € 2
(A) = & Fram fomm | 9= 1 amo-fawm siear | 2
(B) == UEY ¥ UIw 991 &I TR A g W-WEN F g 9 g €
() W uftaw # e sfia &t St §
(D) fife-wgs Wl e Hhas § FeEs g @
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faumr - 1
ST - SqTet
Section - II
Language - Nepali
79 faymmm s BOEHWQIH%WW%HW@ |

There are 30 questions in all in this Section. All questions are compulsory.
Part - A

A. Trefafes e 9@ |ifaesm (31761 - 40/70 ) TREH HEl ST B :

TEH =S AT MR AR e 9EE gAATas viaaa | e wie s gor
e, fafeq ST s geesd M S Tem W i faud | et smer s
fewmat fadiy W, e Medw ffwm M | @ Tiede Teier s g5 W — g e
FeefE Trierd @ TR el et 9k | TR eyl weafa- e, Sore, T, |
T Gl WS | ITh AT T WY GRS, Wl Sl A S | e
ACTITH IgA WA faensdiese) Mt TRl Ao g3 T TR JIH b =S 9w
‘sfree BTeE’ — o Uaen TRl R AT g9

T qetEE R wgt Rl fF vEw wewl we uf felt @ €39 sitea fag
FRU F9q) i gl w IWWW‘WWWWW
ST ST o T HH R T T W T ST T |

31/61. ‘faeneft’ s F9-F7 @R I A © ?

(A) 31+ HA (B) H+ H

© 3 +3m D) 3m+¥ |
32/62. ' sTEEarT’ I5H 3’ FH EIHI YAN WTH T ?

@A) vE (B) U

(C) N (D) HFEAFR |
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(B)

(D)

faerao

FE |

‘ﬁ?ﬂéfﬂ%ﬁ@rﬁmﬂi’— T A WG A A SReE faw 7 ?

(A) &l

(C) 3UIEH
“Afder’ v & 2

(&) Ea

(C) T

‘faenel’ F= wfve e 8 2
(A) I g

() o gy

@y’ v ‘g FA T 8 2
(A dfga

(C) Toamas

(A) TEH TSI - TR

(C) TEQrH g I9TH - =)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

FHTOT
ST |
g e |
< gfy
MHE=T T |
e B |

A wifamert e - T

HaFAEAA - R |
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39/69. TRHEE T sE T YR & 2
(A) TR STSTE HEATE U
(B) Wéﬂﬂﬁﬁﬁ%wwﬁwaﬁmm@
(C) Tt Aeer wifeRm e W
(D) g Fle SR g |
40/70. e wfFs TEARR 98 T
() e ufe B) wHfEsk wfe
() TR T | ' D) R |
B. ﬁﬂﬁﬁﬁﬁﬂﬁiﬂﬂ%??ﬂfﬂ@[ﬂ/?l—%/ﬁ]wwﬁwm:

‘qzﬁﬁlﬁ'aﬁm!maﬁrmwﬁqﬂaﬁmﬂmmgﬂﬁ%qﬁwﬁﬁ
EEEEEaR U A
41/71. ‘ufa’ w98 8 2 |
(&) ARt ® - fFE e
© o D) W |
42/72. ‘TEFE’ — I 34 & € ?
(A) ==ha A (B) SEEH @R S
(©) smme foeht - (D) W1 WeHhd! AN |
43/73.'d &1 @9 B ?

(A) I TEW (B) HEH XM

(C) 4 e (D) 7o gE |
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44/74. 'O’ FE WS &Y ?
(A) TEH (B)

(C) Tv (D)

45/75. 'FasAtvam’ — &) 54 & g ?

(&) . & 3= (B)
©) ﬁﬂ?ﬁﬂqﬁ (D)
Part - B

46/76. TleeA fagrae yfques # g ?
@ 3 (B)
(C) TS , (D)
47/77. 333" iR HAEH BB 2
(A) IRHEAE guE _ (B)

(C) TR FHH (D)

GEAE]
q9 |

A ITEE |

T grhee
Tz fafea |

®AREY fog

48/78. Wifecd STHTCH QU W T Ifeeh TRATT et Wiea®r #1 57 2

@) frEgAr v (B)

C) THHE<™ (D)
49/79. Y% qreTFAS famefeean!

(@) Afes T werEm T (B)

(C) wargin fasmam weram e (D)
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50/80. 'Psychology’ ¥ F1 THTER] I5E B ?
(A) wfEA B) WH
© %= (D) TS |

51/81. fagmes! wxq @&g & & ?

(&) =it fasm (B)  Afde goaede! fahE

() wAfg® faw™ (D) IS Saament fawE |

52/82. TS TUE ISR Y& TR THS WiefTF A< AH F 7 2

(A) TERTA <o (B)  FETHEl AR

€ wlfard e (D) E=B=aEe o=<eH |

53/83. ‘98 T Ag!’ FTA @ F AU Fi € 2
() wEEeH gRmgn fofad wu wege
-[B) Hﬁﬁaﬁwﬁfiﬁﬂaﬁﬁmm
() swmide firfigr fefaa @vewe
(D) arege wHgR fafad avesr |
54/84. Frefafes F=iie wftsmagm fafea 7= & 2
(A) TS I B B) A @
(cl et 7D (D) 399 A |

486001 [ 6001 |

|'BT.0.



32
55/85. ‘g% ufte’ S R FERT 8l ?

(A) TET | (B) A
(©) ugA D)  fergem
56/86. ‘wAIfaa’ & & ?
@A) Wﬁw—tﬂﬁm (B) =HeR HEi foame
() omiferen fomm . D)  EAETR

' 57/87. "We must procure the best teachers for our children whatever it may cost."

4 HESH YA Bl ?
(A fa=emy : (B) TS
(C) =M srfa= (D) =9 = |

58/88. fary fsa fare yad® il g ?

A ™= . ® wF

(C) whierdlh D) foEsE= |
59/89. ‘it foren wfthean’ waet Afeens! 3991 & ?

@& W B) TS

(C) THFwH (D) THEEHER |
60/90. femsh &z o, TfgFamER, RRifeIaErR & & 2

(&)l @en B) =g FIEFY

() wfa (D) favawmf< |
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QQI6l - II
QeI - GGl
Section - II

Language ~ Oriya
a8 QQI96a M0G g4 QR | aNg d969ea QAR a9l ARy |

There are 30 questions in all in this Section. All questions are compulsory.

-37/67) @9 KG6IG CI0GA AMISY QG66IE aaQ AUIQ A0& AeR G

“AQ8 AR, QAHEE, AVEN A K191 |
gQ Ol 94 A=IR Q6d | (RITHIE QEQ 19! |
QAQ 40Qa ARKY QA8N-69-2A,
cRIQI A1F a8, 8 38 98 | AR a6 adé |
e G994 QaQ F6n F198R VaIae,
QI8 ¢ G991 a0aR 98 AIRe 19Q-ae |
Q62 7 6a9el AR A9 | a8 ALY €2Q |
AIRQ Ce8 Ade IRl AfQ §I 69Q |
QG Q6P €TRRRID AGQ BTQ AP,
QQ6R 967 90IAR 08 ARG a°q I”
‘AR’ 6@@ 9@ ? _
(A)  QERI9R G688 (B) Q4891908 668
C) QIGQI9Q Geaa (D) QgQIoe Qeae |
e 18Q 2100 6@ AIRAIQ FIQIAN gaIeeq Qg6 6QIR8 -
(A) Y2l 964 QIQI&N
(B) Yl 2904 6 RCAIRKRG QI8
C AN ao4 @ 2QE47Y Q1

(D) G910 Q8 @R6Q 96 MEG 6QIA RIRIEH 28 |
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33/63. @ddl 6EIOAN @Y ?
a)  agyIde B) 99l
(C) €8Nl sl (D) @gen |
34/64. @8 @6 g6 ?
(A)  6QQ0 (B) AlQQ
(C) Qg 609 (D) 299IQ |
35/65. 66I86Q @AQl Q86 Q6 AIdeR ?
(A) Qugs ad B) @9 991@
() Q¢ edlauen (D) 98 a8l |
36/66. <Y 819 2Q LAM1 PARQ V' 6914 AIGS 7
A)  1Q (B) QI
(G D) Sl
37/67. '606@ Q- 640R cAA €9 ? |
(A) @ F6a86 (B) Qeagyq Qeeae
(C) Qea8EQ dc68el | (D) ECHIQOE F6ATE |
(38/68 - 44/74 ) 0Q URERQE 0@ 7766 G2 ARYUSI 9696@a A0@ QGG U :

“Q9 6RAIQ d6a NAa JSIFE QIBAe QYR Ye° QRIQ 6091 MR | ¢led 6AITY Qcas
FEA6A 99 609, YO QPIQrSICQ cAIFY QaQ 2R | QIQE. QI AR GR GR REEAER ARSH
aRd 6 YRceded cRIRMIY | GEIAN. AANNER FINARR 896! 6 ACMA IS ] dem |
99 99 919R 6ReR ARP oFlca AFQIFC AR FQUCA. V19R €U Q EER CEFQ ALS. 64
ge1<, Q@91 G CPele 061 Ra6a. A6Q A9 AYQ 961 AACAI @RQIR 66 S @ gY I

38/68. Y0I6a ‘RY’ 6RQ A @6 ?
(A) Q%es (B) ome

€ g9 (D) 2AQQ |
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(A)  QAIRQ QQFER YQIQ 8929 dQQ A

B) QI96e G900 9& QY

€) &R g98Q ard QY

(D) QPRQ FLRE F6a AGIFIR QS 9 |
QIN0AR QYR 14l 2Isa ?

A) @99 . (B) QGne
(C) QR (D) as@aa{

vacedodia a8l -

(A) 60 YR 6Q¢ QFQ 908 (B) 6294 ‘qél Qde @08

(C) 60 &6Q 624 Qdle 203 (D) 60 YQAIQ 61TV A0r edn Qag |
ARIAIGIQ af

&) @ol + Q8 B) QB! +Qrgl

C) @9 +ars (D) Q@9 + QIgHl |

29" 99 6QQ 2TER MIRO CRIAR 7

@A) Qe - (B) Qe

—~

) &ds (D) gQéng |

88 caled caITY LR QRIAPEI CaISE AR Q'8 QU ?

(4) Q00Q ARee QY (B) ©QQIQ QY
(C) VR6cRaad QU (D)  RABAGRYEH QY |
6001 | [ P.T.O.




45/75.

46/76.

47/77.

48/78.

49/79.

50/80.

486001

36

AT AQIRE @9 ?

(A) QM QId B) @OQ Q9

(C) Q6aQ a8 D) @998 QI |

“cAl @199 Q6] RE@ AFeIa R0 Q8IQ 6Qa I

V@ QR0 6AQ AA&Q 7

(A) QIR QUL B) 96 ARRIL,

C) @9 cala D) YRS UPRIGR |
2167 602 QIS RRAI6A6R BPAIRT 69 AGIQ AQAIB | YRl PREa
A) 682 QEl Q4R 699 - (B) 6@a Q8 998 629
C) G@a Q¥ Ad A (D) 6@ Q8 Q9 6QQ |
Acales ARRd cRa AOR 6510 cRIQAUR ?

A) Q@G (B) _ 9121 @@

(C) 6QQQIgeM ﬁﬁ D) e @d |

CORFIR - 6190 6AQ AN AR ?

A)  @Q91Q (B) @QQQQ é@\g@@

) @duIg (D) Q9!

6@ 6196 0@ ?

(A)  QQegl (B) Qg

C) Qqegl (D) QQeg! |

g

6001



51/81.

52/82,

53/83.

54/84.

55/85.

486001

37

odYIEQQ caIY Qelss 69Q0Q ARaRl ?

) 690 B) 4008

©  6RaIR D) o@el |

6RG QERIEA A9 gasH @IFsaQ gell gma’éa aa QEAIRG CQIRR 7
@A) @fa 0ad4l B) WFIIUE Q2P

©) ©9Q @RI | D) 697 aﬁiqé |
cHnaea Qe 9080 6 dMIEe a8RIQ I '8 ?

A) Q9% dal B) Q9%

(C) Q@w de (D) Q@ Add |

‘AQ PIFQQ QRGO! @Y ?

(A)  6QIDIR CRITAUL, (B) QIR0 FQI8
C) B ﬁsené 3[=[alfa 1) (D)  QINGGE G9RIGR |
066 G99 caa glafia Gea AU 68l QQRIA ?

(A) Q8LEAR @@é TSI 6964

B) Q8IQ QIS 96Idas F8I0I0 9Qse

(C) 2I696Iged cQIa f8IQIe [Ece

(D) 6U4GNR, 69Q41R G AMQQIL] €Q6Q |

[6001 |

[ P.T.O.



56/86.

57/87.

58/88.

59/89.

60/90.

486001

38
6P €80 QIQI ASIAIR 2R PRI 6QIRNIER ?

(A)  QI9IQ1AIGR 2K g4 AQIRLR

(B) 6gaNRE GaPRO 6Q6R

(C) AYUR eI RIGKIQT 6AIG 6Q6M

(D) G8IRIR QRN awgﬁ@ d91 QR MR FQUGER |
2195I6e QIdeY aQ 288 |

¥0I6Q AIFYY 6AQ RIQR ?

A 9 flos (B) 2dIQIR Q@

C) @6 QR (D) 2RUFAE AR |
‘A5Q0'Q AF - 6aQE 0% ?

A) 9 +@a¢ ' (B) 4 +Qa¢

(©) 4R + [aee (D) Q9 +Qe¢ |
JaURANEH §QGQ QIeEo6R AQT |

‘G 6RR A1, 69 7

(A) Q6@ (B) 696Q4Q

(C) ©ead (D) 9909 |

0% 967 aN9IAIE @0n AAgA 9. 6060 AaG, QORI 6o |

YQl 62Q eI QI ?

(A) 4o (B) Q&R
©€) &dlae (D) @R 964 |
[6001




39

Wa.NAQ - 11
2. KA— LDE0D3A
Section - 11
Language — Santhali

There are 30 questions in all in this Section. All questions are compulsory.

31/61. KZ22I@DGE Y2324 P2o202 ‘923 92 VIZIU P2ED—
CMIAE ISk RIS w2 W Sl (&1 —

A) 2232 ©9hD.I2 (B) WAQAIA BATBAIANZ
I oI '2fefy i

(C) ND.EYU 209'SIN2 (D)  MYIYI2
CCECE |

32/62. ‘009U KDDDLS 2@DE UL 390 92 bDED—
"G AW (WS Y T 7 A —

(A) Qw0 - (B) QoUDE
S A

ik i (D) Gbd
e G |

33/63.  2DIZNAL VOZIDD DD NDDANAL NDEVDD UAS G20AT SPED—
wiafas GFreid &g bifee sierd e coifes wen —

(A)  UZd2U 2D WALY (B) 0bE5 2> (DAQ
IR IS RIS oY 917 R

C) @707 DS N2 (D)  ©YOAS DD GHOYL
fefs wma <G $fve i oV |

34/64. WANMDIWD0Z VAWVD F2RDE UDEZ 22 LILD—
BRI 1= (I WEH 7 I —
(A)  WIH VDWD02Z $2.037 HIC
RGARICS wZfe ¢
(B) 120G TD.MDYGE
R AT
(C) WAINDLDWDO0Z Ko2DZ VIWD bIG
ZG4AIRICS HWd AR
(D)  M2WIE HD BADHE
%3 T AT |

- 486001 [ P.T.O.



35/65.

36/66.

37/67.

38/68.

39/69.

40/70.

486001

40

TIEO70 DDGOLEDOS UKNUY 22 D2EDR DHISDE —
of. TGN F ¥ @IS SAPIAH —

(A) 2P87AbLA (B) d2UDE 8AGA
S5 carer fofes

(C) ©23PD 8AbA (D) WABSA 8ALA
e fofs IELIRIES

'@9PD.2" DZ2RDE YPND. LDVDLS €D bILY—
TENG” (W S Abl AW 7 el —

(A)  PYP2.2 (B) 202
(C) 2623 (D)  32.67
aesig ey |

‘Z202) LDODLS DNZRDE DAVARDEZ 9T 22 bILY—
ey’ ARM @I refimm Gife) a9 v om1  —

(A) B9 B) &7
= of

C) W2.EA D) W2.ELAR
zify BT |

€220 K2 2220002° 22 bIED UDZID) WIDICDE
CTES (T SAGR 7 FH NHGSY Z:
(A)  UDE DEO2D N2@VEC DIADI (B) L2920 D2RIE 8232

LR CERE HIHACIH _ G @ 5O
(C)  DHAP F2RDE WHZA.D (D)  NARDE d2RDE 2H0D)
wifeet cams g o ¢ sl |

G7P8d> W222U €2 DUIZE 122D GALIND.LD 202 @2&02 (A A RN [
d7RD.Y 297 P2¢ b2YVD —

ﬁagwwwwﬁawﬁwamﬁmsmmﬁme gfieTo e —

(A)  WIID0D DANO2 (B) K9%b3% D702
(C) bODO2XDR MADOZ (D) d2W2D MAN02

022 L2R2E U2 WATIDULD N2RDE LYOOD” BYOSA $2 LODTIPZT
02WZ' bIED—

R FE A QG P @z P AR W g @ O —

(A) NEEE KDPDZ (B) NEE2 Lop32
1845 eTCa 1887 FAFTE

(C) NBEG6 KIPD2 (D) 202 WO VAR
1885 A TR 418 ] |



41

41/71. TZAPLY WDIDU TAPLBYH MHZWA 22 20D LSIT bAZ NILZIU P2ED ?
foreiy BT ey qufz w S fam e el 2

(A) DoEYU bOILDG (B) DLARP7A bR2EDG
SO CIE fafer wee

(C) GO2'C2D bOILDE (D) PINZ LOIEDE
FREROIH Wi *S |

42/72. TAPGL WD3DU TBAPLYH 1HZWA AL 0ALD.C GASOND.LD 0DW2' LIED ?
foretp BreN oy qefz fm foares Pt 3 o1 st 2
(A)  09DHE bDID 0YRYE bH3A (B) DYEARD. b23D THEARD. 09374

OEE T 9FR Y offan gl sy $fe
(C) 2RI 5222 2@IE b937 (D) UAS b23D '
QY T ¥y o fSresy |

43/73. 0DONAE UD.DDA LIVYDEC G $2 0DW2' LALY—
I WY FETP oM * OIR Pl —
(A)  b2ROD B) (L29IPA €2

(C) bOD.RIA GD3 (D) L2c G232
e & : 1Y IS |

44/74. K2WNOE© ﬂ@%@ﬂ)&%é 202090 WARPRG T2L2—
FZAR A[E (4 Q6@ Be: v —

(A)  NIP2RD (B) NAP 22022
(C) G2N THYND.CD (D) E202RD)
% S{eTH1 e
45/75. KA®Y OD.EWH 92 DODCIZDDA WDALAZ NDIND PZ® bIVD—
i sl v eIl gufen emedl ¢To T —

(A)  NBGG LDP DZRDE 20 WHE WAPIG
1855 AT 30 & f&eis

(B) NEG2 LDP NZRDE T DD.EYIDIA WAPDG
1857 ATz 26 @Iy 2ot

(C) NENO K2P D2RDE NG DEILN WAPBE
1810 >TeTeaale 15 Wi fze

(D) N6EZ LIP D2RVE V& ND.EYYD.DA WAPDE
1947 AETEE 14 S 22 |

486001 6001 [ P.T.O.




46)76.

47/77.

48/78.

49/79.

50/80.

486001

42

“2@A0@2 UAOODD” KDEODPA ¢2 LIEIC—

“wifires @’ A= ¥ SHE —

(A)  UvDD. WITIE
Ol 2o

(C) L2DEZ0D3 WITIEL
S T

(B)

(D)

DD WIDIE
T8 29
$AbL W2TL AL

fugs 29 |

‘DIDE KDS2U KLDDDSOINZ ‘DIDG’ €2 LIED-—

‘HRARE AWM ARME SEE SIR_RM 7 B —

(A)  QveLu
G (7ReM)

(C) bAEYD
Fal ()

(B)

(D)

GYEHE

@ (o)
NDEDR
g (fevest) |

‘DPRE2E’ LDODLDLS 22 MZZDY DLALI—

HETICANE M ¥ (@918 S —

(A) 2P + 2G + ©P
e + 9P + (=

(C) 9P + GBb + JL
e + COfF + CHIP

(B)

(D)

2P@b + 9O

GERP + (SR ,
2+P+2+G+2+6G
L+ 4+ + ]

‘PAND.C2N20° 09087 2@ 2P DODLD—
‘febrerces #ffd.wy o WM SN —

(A)  DKALGD DDUSDL hodo

e AT 5
(C)  DD.MYPDP UIDUY

blo il

(B)

(D)

£2.28% dDULDSY UKDUD
1Y AT 2
DIV NHDY

1 o |

VDROD2A 0D.ILANZ NIZDZ 22 UZEDCD—
HAeRl STakE e (s % =g = —

(A) 02 WANAGRZ
qrazifbesE

(C) 82 W2.nA032
PRIt

(B)

(D)

Qe WD.NAGNZ

ARG

U722 WD.NAGD2
fregfb@ |



51/81.

52/82.

53/83.

54/84.

55/85.

486001

43

DAV K232 020202 88DTIE LIE TI.WVAP 202.9 Q@BO@DZ{B@

LDYW2P LDOIU $9 LbDED—
fazra ST goece el I oAifet Tl ZIeIReH SHat@e S 7 T —

(A)  PDZOA0A (B) W22 K2UDDSS
: QN : ROITEM
(C) WATADA (D)  kAPA
fafifa -
8707 $2€ 02P $2WIRD
fofe wy wo1 ww
(A) W2IDC DD.LbD.LD
LU AF P
(B) NAYA D2RIEC PILILD

(C) W22 L2VAIE DRADS 2D DABD.ILD
TG FEF BR HE [A61EF
(D) bDOLDILD
TR
LDEODIA BD.DKAZ 07LD.G P2LAZ TH2002R U2EAC D~
AHSIS! AR foAle T 2org oils o1 —

(A) THE P2bD) (B) 02 P20
AT ' ﬁﬁnﬁ?ﬂ

(C) B2 Pzbd | (D) U2MZ P2bd
I NS |

o7. @, 02028 KIW2MhS PG TRLNZ.PL QOOLUIEDE TLOKA
UZEDC"D) —

P, '@, <fe M2 AT Folktales COIRIE ?_[FEI ¥ (12 ol —

(A)  BHYE WD.NAGRZ (B) D23 W2.NAG2
s{RIfbasca RIERIZUG

(C) T2 WA.NARZ (D) 2RDR WA.NAGDZ
coiaifbenta ‘ @y st |

2DC LY ODIZ ‘@DEC’ LDVDSS 22 LALD—
WPPATIC AB AR W P —

(A)  quehy (B) 909U
) S

(C) GbeYe (D) 2D
G | I |

22

6001 | [P.T.O.



44

56/86. DPOALA 2L NAEZIU 9202 22€ 0DWZ' LALI—
weAfbfs (aw ST WISl WY OIR Pl —
(A)  D2UDEZ KLDWH KDUAD
TR R AN
(B) 02.09 ZIIDRIE UNUL
(C) D2ZOAO DVCOYHEDO0S UKDUY
o, LAY T
(D) K2.2809 DDULD'SS UIKRUY
g A 2 |
57/87. B2ZOAO DDEOHED0S UKDUY
| o, QYA L 7T S (T
(A) PIWDIA D.0992
CICUERSISG
(B) DINSL2WD 2.0932
(C) ODVDIOA OD'DLIL 2.0592
ORRIG SIS SIgE
(D) DINS G2EI2
AGENAA |
58/88. D2EZNAO DDEOHEZDOS UINUINZE 22DG 20D 22C 0DWZHALTH—
o, AYNIY T (A TG G W O ] —

(A)  N7A0D. ULDUY (B) E2WD UB.DOA
ferer a3 SERIEI

(C)  K2PUD UDRUY (D) 220D USRUY
ST S 21 < |

59/89. DINZ.NS TOD.2S bD.LWH 82% PZbDOZ bd GIV PZLIED —
HIAGT TIM WY (b FTFI0 B 916 (@1 —

(A)  9DP HDOZ (B) UDG bD0OZ
VIETPICS RIS [AC]

(C) heYLd02 (D) B2.LA D02
IIICO AP |

60/90. ‘UDERDNDP’ THOS7A $2 8ODDD) DLIED—
“wrareer” s{fY v sl S —

(A)  D2UDEZ DOSDD (B) 22.MSZDEINA DbODN02
GIDOAVIEE ) R RIDIERCI MR 4]

(C) QD3P DoODN02 (D) 2P8ALAOZ
I RACS BP0 |

486001 6001



45

Qgeiisn - 1I
el — Sl
SECTION - 11
LANGUAGE — TELEGU
QST 30 HHer e HOE® o) BHeN wITvmes 2T Qe ST,
There are 30 questions in all in this Section. All questions are compulsory.

HDOF ! G B0 HEsmASes $68 GMmSdbnaS BHeH SScGSREy
(31/61 —37/67) : _
SSSnTeE @G TISELE A% BEgSo
58 SEHoh Kowsond §BmrEsn Foh e
EXSEEom TEEHor ol @R v oGS0
SS03TR Yo ahd et S HEDS.

31/61. B 3Egsw & SEI Send ?
@) adHusre (B) HoR¥sre
C) S asw (D) =&Koo

32/62. ¥e wrendd QtnSoSaeE ?

(A) éwb’i}iﬁeogsidémd: (B) SHow Hodo B'w;éoeﬁmd:
(C) orgdSoroBE D) I T
33/63. ‘agaS’ - o B8 eE ?
A Hogornrm (B) NESE-T 0
© . s&ow (D) ¥8Some
34/64. ‘ordHd’ - olme
&) S"wﬂe.: (B) Eae.gea
© S0, shedoB D) Roboe

486001 [ P.T.O.



35/65.

36/66.

37/67.

(o ~ETVE B

38/68.

486001

46

e

G883 ToSIIIN0E Kok BO@83n Foh w8 SIS TEow

L]

EIRe BN’ - ¥ S¥gSebl) wooTEHa ?

(A) EreSzroomrdsy (B)

(C) aHSroosedsn (D)

‘Boorodd’ - & Kobd Senysn ?

A he Hod | - (B)
C) Herdd $od (D)
BEgEossEISN’ - & SIREIR Bepin 7
(A) 6.113’:5553: | (B)

© ogms (D)

565@95‘55 (SIS et Tefe)
—
GS8Y weoosvso
@
eDTERE $od -

&0 655

9%ee .EQJ"’C{; 6T :fo’éwdgsim

e 808 ﬁmgoéﬁn SAR A0S Lﬁﬁ&&f\: wmw@ﬁné (38/68 — 45/75 ) @

Beof> RSP FII IE 680 SToFF0d. Tl 114 YerQardo.
Tra Ao IS ST S SO oPeorE U0 @R &sa}tﬂ ¥Q. ocmover 5°0F 533‘:16{'35
SHH waHT WOy MEMY T8 T eHSBoBhels gedkme &
SO ForlE Festnd goIE Er %o EETD06*S @oBs SHo CACALA Y
SHo® KieoTro. ¥ grR& ?gc"&:rvaﬁu SO0REeDS IHNH w¥ FT*g¥Tm WHogo
rd. o8 ‘‘wog ¥w Doevsd’’. & SegEie (Hofo TeEE0STD EeRk
QODErON FOyodod. aTesT (STE0L® B3 S Dored B Hoiyyd
Sorol Beolh (HEgames £580D, POy E B dTred odY¥ FSTY oo

EISH rdn RNy SN sy REEargen EOTUN e BEYloTg.
FHord Dol T SHHH S EIe s Tuasy ¥ FDESeASE

'3;6‘3,.?3&:53.
&5;5&0‘5: F&ﬁﬁmgw
(A) QE&.S (B)

€) =Ko Txhabg (D)

6001 |

TEPOTAID §

&,
of

BT



39/69.

40/70.

41/71.

42/72.

43/73.

486001

47

SH DB JFeElond KoY o

A) B8 (B)
€C)  FHord Hod (D)
SH0H A0 s ¥ 7

@) 5T SEd | B)

(C) orecredToEodd (D)

S& % o erd8 Beoth FERAErER0 gor G003

@A) (ESEeHeE® 1 (B)
C) nede Eme.mf (D)
SR TS TegEe oo

(A) 3550 (B)
€ wo ¥» DoweHed : (D)
Beoth FIrdg IS A308° wFogIon ?
@ EH (B)
C) Iords (D)

| 6001 |

& 5yadsoranes

VTS T

85’&.‘5



44/74.

45/75.

0¥ ¢

46/76.

47/77.

48/78.

49/79.

486001

48

TeaHS @ %B“’%Q [oQsaed ?

(A) 20 ﬁé‘“f‘i (B) 14 & %E’“%

© 11 %’E"% (D) 135 %E‘%

PRSI TPOES TSNS $8FDoRS voe

A) oresTreSToEdd (B) DB oY EroFeerdd

© Q5838 ches D) &y oo

Pedagogy of language development ( 46/76 — 60/90 ) :
@go BOANH IV anTe THFeEFor BIBEI B0 BeOIDS $398 (P8

@) HSHe B) TEASS %398
€  5o& 358 D) 23> =
.‘Dms%mé“: SSEe SSTe ;’;ga DoTroXaeR8 ;%26580-3 écga
A @Qégé a’aga | B) o3 a")c‘é@
© o $e8 D) EFo 558

oK @e¥o 8 F3HE® BaPreTrod BemstEe0s
g Y T

@A) @8 58y B) a3 $8%
(C) w0y 8y D) 23

OV FTJome [AT AFEIORY

(A)  (Soe¥ BYSo wowed (B) ST IO woeTet

(C) ;Y H¥Fo wotrdd (D) eHEn S8 voerd



e g e S e

49

50/80. Se égﬁaa* Feg ST oTo %80
A) JBDS acgaa (B) © 5 8reSEH ;scgaa
(C) sy HE8 (D) TR I*H
=] - [T

51/81. TegEoes ﬁégkﬁo@ﬁw Us 5353&5‘575 SES Lo
A) (BBl BEB (B) oSS 880
(0 JHErS $68 (D) wrbs H68
52/82.  0u5E ook widS orgSFesSHNioD o WATET 005, ol
(A) wdSg8, Horwo (B) Jro38E SHOw ﬁ%ﬁ;ﬁ @63?93:5;:
) &°88 3858880, HEXE Dosdo (D) FSwo, HEO
53/83. &g@é’s @@ﬂg?ﬁ&@oﬁéﬁ&g_ 008 € o |
@) swes B) FRSE
© Sae 888 D) 25
54/84. a8 aargegdnd S8 QgonT &om&)'k
(A) g% Wes TPl aomd ' B agsH nT&H3 aoad
C) @& SgSs=gre aoued D) S8 FTERoBT3 woued

55/85. $ES Jporg PS8 SaHerds 3 %5003

P2

(A) mogm (B) HY wen

€) SPoof®Syye D) JpTees

486001 [ P.T.O.



50

56/86. TR 30 HTVO Soss

A) gpeso (B) Sog 880
C) &880 (D) $Eg0
b7/87. ‘ﬁgamé&gé' 9’@2 &‘5& ofwo

A) Soessy §€n} ®odto

B) X8rScwo 5’? @O0

€ Kgo8 w®E58® Koabo Qo Josnwo
(D) 38%e «&*S5ed wHtboSao

58/88. é‘.}mgd‘gaocs& J8 $80 JewoSso

(A 3a68% sEs0 | B) 25 s¥s0

€ &% sE50 D)  Fesworasy 5650
59/89.  "8056 TS’ 5582 wITBAY dargs

@A) b | (B}. ta>ll

© o8 (D) 56

60/90.  FPETFIHS HBanet MO0 B8 ©¥g08 HF Sz Gosd BOD $68
(A) 80885 n‘ogrg (B) SroBey0 :;ga

© da 550 D) 83 =%

486001



51

- S u’?
il = b
SECTION - II
Language - URDU
_L{'?du/;’.,,iﬁc’:u:"rrl/" -uﬁéé_:aﬂlr 30 L)fdi”cdf

There are 30 questions in all in this Section. All questions are compulsory.
- Es iz Ly (35765 t 31/61) JFe Uiy HTESibs
Lt ipii i LS ks (g o e 2 S B FWas it G Esn”
ks le fg}f@-&dﬂﬂuﬁp}ﬁ S A BE NN SIS EBTL P2 st
:Lf/rﬂf..ﬂ.(é..u:f;] EAN SN St L i for o USSP Tir s

¥ BJLJL;KC'—-UJ”LL‘(”

¢ ‘Lgﬁ.«%ﬂ..,ﬁ 31/61

s8¢ (B) | =i @

Kt Je (©
f <YL “US? 32762

w/ k (B | tvsil  (A)

e (D tedl (O

¢ e e sd 33/63
Sy A @ AT w
S o (D) tfﬁtgfu’ (©)

486001 6001 | B TSO.



486001

52

¢ colrlfe TP 34/64

',!f“.f_.;up};:r (B) ST
APl e 4d (D) S )

¢ Budurlt .35/65

fix?  (B) : 1 (A)

= ¢ (D) <2 (©)

. 212l Uy (40770 t-36/66) J“’:.Qwag;.;i,ﬁuﬁujaﬂ

P S RIEVORY Y L e f AT BB
L L ool o J8 T e T sk 67 38K ugs S Ud »
Lol ik e Ml U sl 51y S Ui
(¥ HFT S A 5 & (st Bl gy b

¢ e Wirfe 2L fPule 36/66

Wi (B) ' Jis (A
S S (D) | e (©
| ¢ c‘:_J[/‘Lf(;:... “Uig?” 37/67
oK% (B gk (@A)
gk (D) o (©
¢ £ MkpriE .38/68
SG¥ur B | JrEuL (@A)
S D) SEEE (O



6]
P G e
pi_ﬂy» ® _ cam  (a)
(R 1 .(D)I _ eRtAY (o)
¢ g,nfgﬂ;4)2r
/o (B) : U )
Aty of A ©

¢ pel L o bt

et el - @
4&@£ﬂﬁﬁ;yiwu (B)

Lt NSEISPREPEE s (©
| LWL B PR D)
= S I ST

Aécéi ®) & I'grif (A)

| uféfé-tﬂu" D) LA ()
L}Jub"fm:_..__..xgutyufdgn

1906 (B) 41905 (@A)
»1908 (D) #1907 ()

o IS B L "oty

«0skE  (B) e e A
ciadss o ' Fhejp  (O)

486001 [ 6001]

.39/69

40/170

41/71

4272

43/73

44)74

[P.T.O.



486001

O

54

_E.Juﬂ}’lsc..dyc.}dg ~ Jl‘:’}ui.!,fc’)le‘uu:f

¢ {;.b/v//‘;m..éu
i, (B SO A
Aubyge (D) Sor ©

¢ < U s

vt pan Lo ferin (@)
y’uﬁﬁkfﬁé’-u'gfu@guﬁzééy;uu:gf (B)
pﬂ;g’g‘-_:gd)@myéwmtK("‘L_-:s;u:.;f (©
Sle vt D)

¢ eolpUe Wi\

AJESerit @B eetfesih (A)

'\

St D) tles f’uy.:,g:ﬁ..ug:ﬁs (€)
Q.::/"“-_ (jl/.l.}ﬂjlsé‘_ _f/'l'

ST A e

o du e sud Ut A
o/ (B) £
£ o) g ©

L Z Lty (47177 ¢ 45778) P sinizey e Pt S ien

.45/75

46/76

4777

4878



486001

;;ﬁ%L?Uu

Jb;f}l:/r

JVJ’JT

C&ggjlﬁf

S-S -
S e Lo

55
¢ e bl U K
(e s csAeIRd  (A)

(b i i (©

¢ e UV EL g e

(B) JTrER (A
(D) f'c/:fd'f’-f’ (C)

€ sl “LUUS e

(B) | LA (@A)
(D) s20JT (0

P YN N O S SSPN ]
B) * BbLisily  (A)
) P ©

o bR g

(B) sz ()
(D) sy ()

C e dnfinbun gt s
®) J# - -k
(D) e = 6 - J (o)

49/79

.50/80

51/81

52/82

.03/83

.54 /84

[ P.T.O.



486001

$965

4&552

Sxzsf

rﬁt@?ﬁf'.

ﬂgﬁ5

B

5

56

¢ & S JB PRI s
(B) r =beSP (@A)
D) C ©

¢ e UtHaA L LBL K

(B) Sazls (A

{D] 77 ()
te e ASL o B EEUG

(B) skl @

o Lade ©
S 2 T GEETFs A 0P S5

(B) | | Ja (A

(D) J#E(©)

?.q_uﬁﬂ§¢JGQ/,amlﬁJ££-uﬁcﬂ

(B) s @)

(D) | &6 (0)

¢ o Qo P CnsTeming

(B) &o@

(D) # o

55/85.

.56/86

57/87

58/88

.59/89

.60/90



91.

92.

93.

94.
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sifere @ faesle
Section - ITI{a)
Mathematics & Science
@3 e oub 60 B o ez | 2dwd] @2 Rl s3a S0 O e Aedd Ted oS R |
There are 60 questions in all'in this Section. The candidates who have selected this subject
must answer all the questions.

a3 boGerd qe PRI 9 A id
90° (I ANAAfBS FAET (R HOGE
@ '

(A) <efcsa
(B) nEfae
) T

(D) nfeiferams |

a3 AT g eifell S W=
165° 201, IQYeNL LA 2o

(A) 12
(B) 24
(C). 6
(D). 8.

wfeae fage AABC-@a A e
ZA = 70° TE NI @H =AEH 0= 2

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC < BC.

4ol el wfeae fage, @sh
SPRCPICI W 25° &, AR W
(A) 755°

(B) 110°

(C) 130°

(D) 155°.

486001
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If the two diagonals of a quadrilateral
are unequal and hisect each other at
right angle, then the quadrilateral is
said to be

(A) square

(B) parallelogram
(C) rhombus

(D) trapezium.

If each interior angle of a regular
polygon is 165° then the number of
sides of the polygon is

A) 12
(B) 24
©) 6
(D)8.

The vertical angle ZA of an isosceles
triangle: ABC is 70°. Which of the
following relations is correct ?

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC< BC.

An acute angle of an obtuse angled
isosceles triangle is 25°. So the value
of obtuse angle is

(A) 755°
(B) 110°
(C) 130°
(D) 155°

[ P.T.O.
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96.

a7.

98.

99.
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DE||BC. BC =7 cm 267 DE-99 NN

5
A

B c
(A) 14 cm
(B} 7com
(€) 3:5cem
(D) 14 cm.
(x + 3)(x — 3)-4Q x-QF 3RS F© ?
A 1
B) 2
) O
(D) -1.
x? - 8x +15 Alfba Tesmaa e
(A)  (x-5)(x +3)
(B) (x-8)(x+7)
© (x-5)x-3)
(D) (x-8)(x-7).
a’b®, a®p? , a*p®-93 s 32¢°

2 b-@q ¥9F 2&

(A) 32
(B) 24
C) 6
(D) 2

at afm aawer o2 b3 afmia
1.8, (a + b) TE ANG. T@

(A) (a®+b?)

(B) (a’-ab+b?)

(C) (a? +2ab + b?)

(D) (a2 +ab+b?).

95.

96.

97.

98.

In AABC, D is the mid-point of AB,
DE| | BC. If BC = 7 cm, then the value
of DE is

A
D E
B @
(A) 14 cm
(B} . Fem
(C) 35cm
(D) 14 cm.

The coefficient of x in the expression
(x +3)(x-3) is

(A) 1
(B) 2
€ 0
(D)_-1.

The factors of x2 - 8x + 15 is
(A)  (x-5)(x+3)

((B) (x-8)(x+7)

(C) (x-35)(x-3)

(D)  (x-8)(x-7).

If the L.C.M. of a’b3, a®p?, a*p® is
32a*, the value of b will be

(A) 32
(B) 24
) 6
D] “2.

The product of two terms is a® + b3

and H.C.F. of the two terms is (a + b).
So L.C.M. will be

(A)  (a? +b?)

(B) (a?-ab+b?)
(€) (a? +2ab+b?)
(D) (a? +ab+ b?).
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101.

102.

103.

104,

105.
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1999 9+ =&

(A) 7880599
(B) 9703011
(C) 7680951
(D) 6879091.

0.63 -aq @I &

(A)
(B)
(©)

(D)

A€ B@d IWER M 10 129, B8 C-A9
UG MG 15 929 @R A € C-aF WER
MG 20 I A, B8 C-9F ITCH T8
G ?
(A)
(B)

12-5 324

17-5 924

(C) 15327

(D) 20 3=%4|

1296-499 o5& 25

A) 24

(B) 26

(C) 36

(D) 44.

68, 32, 2:7, x A 82-49 G 5 T
x-E9q W I

(A) 4

(B) 51

(C) 41

(D) 39

3 5 @i 9jelizse s1e 7R
(A) 30

(B) g9

(C) TorEa @ @ @fb

(D) WS ~ |

=~
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100.

101.

102.

103.

104.

105.

[6001 |

The cube of 199 is
(A) 7880599

(B) 9703011

(C) 7680951

(D) 6879091. .

The fraction of 0-63 is

63
(A5 e
100
100
By ==
63
T
@ s
L ity
11
D byl
(D) 5
The average age of A and B is

10 years and of B and C is 15 years
and of A and C is 20 years. What is
the average age of A, Band C?

(A)
(B)
(C)
(D)
The square root of 1296 is

(Al 24

(B) 26

(C) 36

(D) 44.

The average of 68, 32, 27, x and
82 is 5. So the value of x is

A) 4

(B): 9]

) 41

(D) .39

The average of three consecutive
whole numbers is always

12:5 years
175 years
15 years
20 years.

(A) even

(B) odd

(C) any of these
(D) none of these.

[ P.T.O.
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106. @it siwgrea b @9 35 73°, 977, 106. Four angles of a pentagon are 73°,

146° €92 138° | 22 (1elbq W+ 97°, 146° and 138°. The value of the

(A) 113° fifth angle will be

(B) 104° 1) Ao

(C) 86° (B) 104°

(D) 83°. (C) . 86°

107. 399¥F ABCD 8 ABEF-@q CHage] . (D) 83°.

A AW 42 S| THS| YYD 107. The areas of the parallelograms ABCD

h & p 2 ' ' and ABEF are equal. If their heights
be h & p respectively, then

P p resp y

(B) h<p e

EFch=p B) h<p
(C) h=p

(D) RIS 991
(D) none of these.

108. In the figure below, AB| | CD, then the
value of ~BGE is

108. 28 fot@ AB||CD 2@. /BGE-94 Wi
L

A {51 . B
/e =T
E“, ‘ E

it e : (A) 45

{B) . ~120° ) (B) 120°
() 1350_ (€) 135°
(D) 270°. e i

109. Nevs &1 cPiafera i o fage 100, With Which of the Pllowing angiés, o

YR Sl i triangle can be formed ?
(A) 95° 45°, 50° (A) 95° 45°, 50°
(B) 95°, 45°, 40° (B) 95°, 45°, 40°
(C) '65°, 85° 50° : (€) 65° B5® 50°
(D) 65° 55°% 25% - (D) 652, 55°, 25°.

486001 |



110.

111.

2

113

114.

115.
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aQ@fb NeLng AN 32 st @ 5 @ @1
AT (@ RN SfeH I1H @ 3T FeAha

(AP 16 PN et AN =+

(A) 83

(B) -44

() =83

(D) 12.

COIIT O 4FH x 429 2E1 5 429
I 8 5 I8 2@ JICTH FToIS 35
(A) (5-x):(5+x)

B) (x-5):(x+5)

€) (10+x):x

D) (x+5):(x-95).
(_2x+1]2:4_x2+4x+1.u51%~ﬂ?!=ﬁ
(A) FNwE

(B) IO

(C) T

(D) CHIEIGE ¥ |

faeer @ @REE SRS 19 : 20 36,
(&) 10%

B) 7:5%

(C) 5%

(D) 2:5%. |

azfs WA 20% I F6E AT

53 90 | HeIG 9@ ?
(A) 60

(B) 70

(C) 75
(D):=80;
(p+q)=8 4«ANR
A 2

(A) 7

(B) 14

() 21

(D) 28.

(p-9q)=6%F pg-9ad

110.

111.

112.

113.

1%,

When 32 is added to a number and
then multiplied by 5, the product
becomes 16 less than the original
number. The number is

(A) 83
(B) -44
(C) —a8
(D) 12.

If your present age is x, then the
ratio of your ages 5 years before and
5 years after the presentis .

(A) (5-x):(5+ x)
B) (x-5):(x+95)
€) (10+x):x

(D) (x+5):(x-35).

(2x +1)>
(A) equation

(B)- identity

(C) inequation

(D) none of these.

If the ratio of sale price and purchase
price is 19 : 20, the percentage of
loss is .

(A) 10%

B) 75%

€) 5%

(D) 2:5%.

If a number is increased by 20%, it
becomes 90. The number is

(A) 60

(B) 70

= 4x2 4 4x'+ 1. This is an

(C) 75

115.

(D) 80.

If (p+q)=8 and (p - q)—6 then the
value of pg will be

A) 7

(B) 14

(C) 21

(D) 28.

[ P.T.O.



116.

1T,

118.

119.

120.

©

4,7, 12-47 594 SN 241

28
21
14
35.

(A)
(B)
(©)
(D)

50-99 x %
Ll
(A)
(B)
€
(D)

x99 y % E y-99 qH

25
50
75
100.
3x? - 2yz + 522 @3 NAINEN G
Z
(A)
(B)
(©)
(D) .
55 kg 1ot 25 kg w31 @ SfEEI @3
R SN € T S F© 2

(A)
(B)
(C)
(D)
93T (Y MW A-99 FA B9
PEd faed| A-@q el 428 Bl

2, B-97 A ZE
214 b1l
556 BI<l
107 O1=°1
856 b1 |

u o w s

1 B
56
B S
el )

(A)

(B)

(D)

486001
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116

117,

118.

119

120.

. The fourth proportionate of 4, 7 and

12 is

(A) 28
(B) 21
(C) 14
(D) - 35.
If x % of 50 = y % of x, the value of
y will be
(A) 25
(B) S0
(C) 75
(D) 100.

The number of variables in the
expression 3x? - 2yz + 522 is

q

3

(A)
(B)
(C) 6

L) o

If 25 kg of zinc and the rest amount of
copper are present in- 55 kg of brass,
what will be the ratio of copper and
zinc there ?

(%) 115

(B) 5:6

€] 6:56 .

825 IR R

The principal amount of A is twice of
B in a joint business. If the profit of A
is'Rs. 428, then the profit of B will be

(A) Rs.214
(B) Rs. 556
(C:) Rs. 107
(D) Rs.

856.



121. sfaResiEa W W @@ enfiea @2

yfess 2
(A) CETE
(B) GPEBETCIGI
(C) «TEFeINCEH
(D) wmfafere |
122. FsfeResfm  emb  @wendia e
Y 7
(A) F@
B) sl
) fasicenye am+e
(D) oI |
123, FsfeReefaa @Rbe sfefaes grmes:
oIS 2
(A) FT W®
(B) &I g
(C) =2 R
(D) fif5 sz
124, Fafefas @ onfig ss=m za Bifer 2
(A) TRY
(B) (0!
() ~mRIE
(D) =mfsar |
125. forest aeera omy w81 e %6
) e
(B) 9%
(C) ey
(D) ArFEe |
126. %6 sicefa fawae geer (12 smielifb 2o
(A) ToIR pEE
(B) cblE< =g

() @l pEe @ Wb whiEe swiel
(D) @2 pe @ ora @b Chras swiel |
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121.

122.

123.

124.

125.

126.

6001

Which one of the following animal
body phyla has segmented body ?

(A) Mollusca
(B) Echinodermata
(C) Aschelminthes
(D) Annelida.

Which of the following is not a

mammalian character ?

(A) Pinna

(B) Mammary gland

(C) Three chambered heart
(D) Hairs.

Which one of the following does not
have accessory respiratory organ ?

(A) Anabus sp
(B) Clariussp
(C) Labeo sp

(D) -Heteropneustes sp.

Which one of the following animals'
locomotory organ is cilia ?

(A) Hydra

(B) Earthworm
(C) Paramoecium
(D) Amoeba.

The organ responsible for secretion of
bile is

(A) liver

(B) kidney
(C) pancreas
(D) stomach.

When repulsion occurs between two
substances then those two
substances are

(A) both magnets

(B) both magnetic substances

(C) one is the magnet and the other
is non-magnetic substance

(D) one is magnet and the other is

magnetic substance.

[ P.T.O.



127. J0EAE EEE (W AG AYE

128.

129.

130.

131.
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ofeeqr 9o1 =¥
PG
FerE
AT

(A)

(B)

(©)

(D) SIHTHA | :

AR i ¥ c1 oI o 2

w12

PTG

(C) coffow

D) fefa

fsieReefEy cemt o @%ﬁ N 2
i

wﬁmﬁam

(A)
(B)

(A)
(B)
(C)
(D) =ef |

oonfaelhe @@e @ Wﬂ‘fﬁ} S
Wwwﬁ’tmﬁt‘v‘f &

(B) SIRGIRFEI

) sweifer S

(D) RIS | |
@1 sme e qio afeke 2
g

T

SITZFIZG |

(A)

(A)
(B)
(©)
(D)

64

127. The electrode which is connected to

128.

129

()

130,

(A)

131.

the positive pole of the battery is
called

cathode

(A)

_(B) cation
(C) anode
(D) anion.

Casparian strip is made up of
(A) Chitin
(B) Cellulose

(C) Pectin

(D) Suberin.

. Which of the following is not a green

plant ?
(A)
(B)

Lotus
Sﬁiro gyra
Agaricus
(D) Fern.

In an eukaryotic cell, the organelle
responsible for aerobic respiration is

Chloroplastid
(B) .Mitochond-ria
(C) Golgi body
(D) Lysosome.
Which substance is known as
'‘bucky-ball' ?
(A) Diamond
(B) Gold
(C) Fullerene
(D) Graphite.
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65

qreEma Sommafe & fe 2

132. What are the components of Gun

5 powder ?
(&) A, SHIFRN TG @92 2Ty . ;
(A) Carbon, potassium nitrate and
TeTCes potassium sulphate
(B) TR, ATFIL € RERIK (B) Carbon, sulphur and bismuth
(C) I, ATFIA € NIRGIA (C) Carbon, sulphur and nitre
(D) 3T, onfeam  FR@ @R (D) - Sulphur, sodium nitrate and
 SBITIN HETEs | ~ potassium sulphate. .
133. 480 W BOIE 495 27 133. The substance used in rocket fuel is
A) & 3 EI (g} 1nqmj Eit;ogen
iqui rogen
(B) w9 QIBCUICEH (B) liq y. .g
(C) carbon dioxide
(C) <N TIZHAHIZY AN :
b (D) liquid helium.
(D) ’ ; 134. The concept of stationary orbit in an
134, HAqN9qq foo@ & %oz g/l (v atom was proposed by
(A) IWHCES (A) ' Rutherford
(B) GIch - (B) Dalton
(C) Ao @@ (C)  Neils Bohr
135. @Dw-af wacTa Triagd ze 135. An e?(ampF _of a solution made of
solid in solid is
(A) A (a)  fog
(B) ¥ {B) ..smoke
(C) cai& (C) bronze
. (D) I (D) air.
136. IGORES &) ARG 2D 2= 136. Substance  important for  blood
(A) e el clotting is
A) bilirubi
(B) Conewi (B} r: W .
: rothrombin
(©) e :C; B
albumin
(D) Calrfasfe | s :
(D) globulin.
157 TR ﬁ rafba A 137. The cell responsible for immunity is
() femcerIEE (A) lymphocyte
(B) «fCRIPIZED (B) erythrocyte
(C) «NPIRG (C) thrombocyte b
(D) CRATCHIHIZG | (D) hepatocyte.
486001 |-6001 _ [P T.Q.




138. BT @6 (TN Iq@IEa AN %6

(A)  CBIEPIGE
(B) SAGHGEN.
(C) =il
(D) SITCCEIfE |
139. TN AR 9% @wiHiEd
AP 2T B |
(A) ©H Hfewr
(B) AN Sfe
(C) TRAT (SR
(D) 13|
140. SR BIAN SAWIE AN 26
(A) MBI
(B) @CEICEH
(©) 2o
(D) IfEIfEm |
141. FRefrRiesfem @b raca o w3 ¢
(A) FAewe
(B) R
C) =¥
(D) &FARG|
142. (I &5 (1o @ 79 24
(a) feetem
(B) SRS
(C) IS
(D)  CERICTCS |

143. R @ wpiqre SEe IREETN

LAY YIS 2
(A) S QIR Siferse
B) sweifer afe

(C) TR

(D) ©IRPe |

486001
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138.

139.

140.

141.

142,

143.

6001

The name of a female reproductive
hormone is

(A) testosterone
(B) progesterone
(C) gastrin

(D) adrenaline.

The pulmonary venous blood enters
;57 R S chamber of the heart.

(A) right auricle

(B) left auricle

(C) sinus venosus

(D) ventricle.

The name of the emergency hormone
is .

(A) thyroxine

(B) estrogen

(C) glucagon

(D) adrenaline.

Which of the following
component of phloem ?
(A) Sieve tube

(B) Companion cell

(C) Fibre

(D) Sclereid.

The site of protein synthesis in a
cell is

is not a

(A) Dictyosome
(B) Ribosome
(C) Mesosome
(D)
Which of the following organelle has
many ribosomes attached to it ?

Chromosome.

(A) Rough endoplasmic reticulum
(B) Golgi body
(C) Lysosome

(D) Vacuole,
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144. (@ 49 2AINte 9PN N (Al " 144. The type of animals showing
- cutaneous respiration is
i (A) reptiles
() A (B] amphibians
(B) ©@pd (C) birds
145. The phylum of animals showing
(D) il preserfccyof mesoglea is
145. (¥ *dq AHoE reEnfa ol Tl &4 (A) porifera
(A) el (B) ctenophora
B) fEceE (C) cnidaria
e (D) platyhelminthes.
(€) i 146. Acharya Prafulla Chandra Roy is
(D) enifbezeifie | known as
146. 5T AT b XTI TN (A) 'Master of Sulphates'
(A) ‘NFBR S AEET (B) 'Master of Nitrates'
: ' ; (C) 'Master of Nitrites'
(B) "N SF TR (D) 'Master of Sulphides'.
(C) "FDIA S[F ATRFRE 147. Which one of the following is the non-
(D) ‘NPBIE OF ACTFIZG | conductor of electricity ?
147, N5 @FD ofee S 2 f Uns carbon
(B) Ebonite
(A) 70 PR (C) Human body
(B) ARG (D) Soil.
(C) NHEA (vR 148. For a definite resistance and for the
(D) w61 definite time of flow of current, the
148. (@we #Fada @y \‘3. e mEe 7w heat produced in a conductor is
e i proportional to
il ) Sef wie (A) " the flow of current
(A) SRR SAFRPfe® (B) the cube root of the flow of
(B) eRIRNIER FNER AN current
(C) eREN@R T WTTHTF\W (C) the square root of the flow of
HFEN@R of1foe current
(D} b i | (D) the square of the flow of current.
149. @ foigrer 1 SfYeprTe <1 21 149. The emfof a dry cell is '
Eg}) 1,2%3’&“ (A) 1-08 volt
(C) 1-05 volt (B) 15 volt
(D) 1-8 volt. - (C) 1-:05 volt
150. 34z THOH @Fh I S FIEEH (o (D) 1:8 volt.
@ 3 51 3@ @fFE 79 @ 2 150. Why does an ink-filled fountain pen
' leak at a high altitude ?
(A) W@fﬂ'ﬂ e qm N (A) Atmospheric pressure increases
(B) W@éﬂﬂ b1 Z131 ST PR (B) Atmospheric pressure decreases
(C) ~TFSl g ANSIE &) (C) Temperature decreases
(D) Swal ?[ﬁﬂ &7 | (D) Height increases.
486001
6001 | PTIO,
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Section - III (b)
SOCIAL STUDIES
«R Rensl (6 60 b ory o | ¥ *RArwd @2 Rranfs b s@cen bice sioe 2t Tag s 3@ |

There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

91, s, A ORICST AW | 91. Riverof South India is
(A) Brahmaputra

(A) T=o@ (B) e
(B) Ganga
(C) FW (D) ™ | 0 - Gsdna
92. W @5 BRAR T (D) Krishna,
(A) IR ~ 92. Royal Bengal Tigers are found in
(B)  ofEuRI e | ' (A) Sundarban
e w (B) Western Ghats

D) | (C) Himalayas

93. A Tweifen Fo1 e

(D) Garumara forest.

93. Main work of a river in its upper

() W .course is
(B) SQTEH - (A) erosion
(C) IH (B) deposition
(D) ! 1 0B AT | : (C) transportation
94, CONFCR Z ..............-AF FFTAFS G | (2} famution of mEanie
' 94. Polder is the reclaimed lands of
(A) GHIRETFGH
: (A) Netherlands
(B) @i
(B) Germany
© : ¢ (C) Austria
(D) Fo=Tre | (D) Scotland.
486001 |6001 |




95, & i@ SIS NS I1F

(A) CRBAISTO@ PTG SI28t

(B)

(C) ~Fowaer gt St
AIPEHIER TS TRET |
96. TRTSA AWST AT WHSA 251

(D)

(A)
(B)
(©

(D)

AW BT

3 Afbasyer Wig
vo A F=
ye AFTE W12
(PHHIR 7 |

97. IHYFGIIY ARG T

(A)
(B)
(©)

(D)

F1f1 BIET &)
49 BIET &)
sT9 BICEAY &Y

Y B Gl |

98. ORI TA @3l

(A)
(B)
(€

(D)

SHTAT 8

RO A8

A BN THG 417
FHIR 7 |

99. MAZITH Qe @ T

(A)
(B)
(©
(D)
486001

SR (dHNare]
g TSI
formr gt

=1 |
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95.

96.

g

98.

99.

6001

Rich deposits of minerals are found in

(A) Chota Nagpur plateau
(B) Sundarban region

(C) Plains of West Bengal

(D) Mountain region of West Bengal.

The maritime boundary of India is

(A) 12 nautical ﬁlﬂes

(B) 13 nautical miles

(C) 15 nautical miles

(D) none of these.

Black soil is suitable for

(A) cotton cultivation

(B) rice cultivation

(C) wheat cultivation

(D) sugarcane culti*_vation.
India is a

(A) Developing country

(B) Developed country

(C) Least Developed country
(D) none of these.

Result of greenhouse effect is
(A) inversion of temperature
(B) global warming

(C) industrial pollution

(D) flood.

4 o
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100. SI9NTEl NF TE
(A) <GAfGE
(B) @G
() SfefeE
(D) P |

101. 9@ NfE 2w

(A] Y I T A

(B) M W= QTR AW

(C) *I=w A
(D) <€tE @T 79 |

102. V oo (7=l J1N

(A) T Swarfers
(B) & warsifers
() =wr fFesifers
(D) fR=R Swarfers |

103. "xfFR-az w=fo 2=

(A) 3¢ 516

(B) 2 e
Q) e

(D) 29 CTTHET |

486001
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- 100. Temperature is measured by

101.

102.

103.

6001

(A) thermometer

(B) barometer

(C) anemometer

(D) seismograph.

Frontier Gandhi was

(A) Khan Abdul Gaffar Khan
(B) Khan Abdul Wali Khan
(C) Shaista Khan

(D) none of them.

Gorge is formed in

(A) wupper course of a river

(B) middle course of a river

(C) lower course of a river

(D) mountain stage of a glacier.
Date of spring equinox is

(A) 21st March

(B) 22nd December

(C) 21stJune

(D) 23rd September.
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104. #{IRIT FRGE @N IBATRE 2T ' 104. Heaviest rainfall in the world is
| received by
(A) Qe
(A) Bangladesh
(B) oo
(B) Cherrapunji
(C) fReie
: (C) Shillong
(D) cafFmamN |

(D) Mousinram.,

105. SesafeTs SwRae 25 '
105. Example of Igneous Rock is

(A) (B} A, (A) basalt (B) sandstone
(©) e i e (C) marble (D) slate.
106. Tferamy (o e 106. William Carey was a
(A) et (A) Missionary
(B) ¥R : (B) Poet
(©) o (C) Linguist
(D) BT 7 | (D) none of these.
107. Gt TIRRIN FETE TS 21 _ 107. Fort William College was established
in
(A) dSvoo 9 :
(A) 1800 A.D.
(B) svoy Al
(B) 1801 A.D.
(C) svox e
; (C) 1802 A.D:
(D) svoo i | (D) 1803 A.D.
108. 7 a (V¥ MefRe 108. The Young Bengal was led by
(A) cznfa fofeam fewmifene (A) Henry Vivian Derozio
(B) . PR AHIG (B) Rev. Krishnamohan Banerjea
(C) comr fRrEoTey (C) James Prinsep
(D) AT (O 77 | (D) none of them.

486001 ' 6001 | [ P.T.O.
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109. S AIGT REw

109. Womesh Chandra Bonnerjee was a

() AR (A) Moderate

(B) Sewe (B) Extremist

(C) (A) @3¢ (B) ToRR (C) Both (A) and (B)

(D) CPWEIE 7T |
(D) none of these.

110. &  @F APRIRE FHE O
110. Gandhiji called for the establishment

frcafaeem 2
of
(A) NS
d (A) Ramrajya
(B) ‘rqren
©) (B) Ganarajya

(D) (A) @ (C) Teq | (C) Swarajya

(D) both (A) and (C).
111, BBEAINE T AGIRET OO APIRE

Rt BT 111. Hiuen-tsang visited India during the
reign of

(A) TSI
(A) . Chandragupta Maurya

(B) =Hdw
(B) Harshavardhan

(€) fadw AsreE

(C) Nagabhatta II
(D) ™A @S & |
(D) None of them.

112, SEwH BEm avew

112. Suleiman was a/an

(A) SRR

(A) Arab Traveller
(B) =l *Ge

(B) French Traveller
) wfe o= ,

(C) Chinese Traveller
(D) (FWGIR «F |

(D) None of these.

486001 6001




113.

114.

115.

116,

117.

@A) e G
(B) fad¥ spre i
(C) ZTHE _
(D) <t @ 79 |
2o 97 o

(A) g AR
(B) &Y S
(C) @ e

(D) CBR FF |
e’ (3 ey emsfe @ifb e
(A) 3%

(B) =&

(C) ww

(D) CFFGIR 7 |
2% STeIea WTNES oo 2o
(A) I el
(B) fmdy see
(C) A= ool

(D)  (FOIR 7N |
TERE e

(a) afy

B) e

(C) (A) ¢3¢ (B) TeF
(D) (PWOIR w7 |

486001

73

113. Muhammad Ghori defeated

(A)
(B)
()
(D)
114.
(A)
(B)
(©)

(D)

Prithviraj Chauhan
Pulakeshin 1l
Harshavardhan

None of them.

Iqta was a system of

Land grants
Religious endowment

Loan

None of these.

115. Khudkasht was a category of

(A)
(B)
(€)

(D)

peasants
kings
nobles

none of these.

116. The Harappan Civilization was

contemporary of

@
(B)
(©)
(D)

Sumerian Civilization
Egyptian Civilization
Greek Civilization

None of these.

117. Yajnavalka was a

(A)
(B)
(C)
(D)

6001

Saint (Rishi)
Philosopher
Both (A) and (B)

None of these.

a

[ P.T.O.



118. Rfirma e
(A) % ILN
(B) G agay
(C) == I
(D) (FGIR 77 |
119, SERFENSH TS ST FE
(A) U IR *FPIET
(B) GRNCWE MR
(C) &I *THAFIE
(D) (FFGE 7 |
120. e (Rean) 37 23
(A) OF 933 TMEATTISIEL I
(B) SRS @98 TS ES S
(C) R @e WIETPEISIE W&
(D) €t @S 7 |
121. fFrr o eemieng s 2

(A) @ X% AGwE

(B) 3N
(C) fiz
(D) zfs |
122, IFECER IR
@) @
(B) I Wil
(C) ==
(D) &= eEe |
486001
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118. Bimbisara belonged to the

(A) Gupta Dynasty
(B) Maurya Dynasty
(C) Haryanka Dynasty

(D) None of these.

119. Alexander invaded India during the

reign of

(A) Chandragupta Maur_-ya
(B) Dhanananda

(C) | Agrammes

(D) None of these.

120. The Battle of Jhelum was fought

between

(A) Porus and Alexander

(B} Ashoka and Alexander

121,

122,

(C) Bindusara and Alexander
(D) None of them.
Jaldapara is famous for

(A) one horned Rhinoceros

(B) Tiger
(C) Lion
(D) Elephant.

Cause of air pollution is
(A) smoke

(B) cleaning utensils
(C) bathing

(D). use of fertilizer.



123. #iqery fgw ofe¥ IW
(A) orRemE Wbee
B) Fefem
() o Wibre
(D) @Wﬁmﬁ 93 |
124. voo fb@ T Giugiol 2¢1
) wegh  (B) TN
c) "y (D) o |
125. G 2R % ¥
(A) - SO
(B) SCsgeTl
(C) wiwe wfErsel
(D) @i | _
126. 5@ sif@we sfes ¥
(A) ¥Q RIS
B) fm-afa Sn3
(C) < SR
(D) YRR 2O |
127, o9 T WREOR 24 ... IRICCY |
A) S
(B) @
(C) T&F I

(D) @GR W |

486001
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123. Mangrove forest is found in
(A) Saline soil
(B) Black soil
(C) Podzol

(D) None of these.

124. Landform which is 600 metres high,

is
(A) Plateau
(B) Plain
(C) Hill
l (D) Mountain.
125. Earthquake prone region is
(A) Japan
(B) Australia
(C) South Africa
(D) Germany.
126. Effect of revolution of earth is

(A) change of seasons

(B) occurrence of days and nights

(C) occurrence of flood

(D) occurrence of earthquake.

127. The first humans came from
(A) Africa
(B) Asia
(C) North America

(D) none of these.

6001
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128. el (a1 (v Wt fay corey (o1l za 128. The Tropic of Cancer passes through
(A) A B) <rpy (A) Krishnanagar
(B) Bankura
(C) Aagx . - (D) GGIZ 9y | € Bitbhum
129, RN ¥ =i sifowren vl = (D) none of these.
A) S5 os : 129. The Himalayas belong to the category
of
(B) T <o (A) Fold Mountains
(C) wmrawfafa (B) Block Mountains
(D) @iz sfs | I (C) Volcanic Mountains

(D) Residual Mountains.

130. 7Y e HOAT T
130. Project Tiger was started in

(A) S»ax qe (B) svae s (A) 1972AD. (B) 1973 AD.
(C) svae s (D) (G2 57 | (C) 1975AD. (D) none of these.
131. Atmospheric pressure is measured
131. I ST I 2o -
(A) mcaifabE (A) Barometer
- (B) Thermometer
(B) <rfifamra _
; (C) Hygrometer
(C) =2cafaomR | (D) Anemometer.
(D) A 132. Rainfall of equatorial region is
(A) relief
132, frerfi wwer g ze (B) " fontal
(A)  TIeTIeCTwSy (B) efare (C) convectional
: ; (D) drizzle.
(C) =ifapere (D) e ¢f% |

133. Longest river in the world is

133. *jfedta Aew aw / 7@ 2o (A) Mississippi

(A) fffi® (B) A Plabe
(C) Ganga
(C) o= (D) ==ef@ | (D) Brahmaputra.

486001



134, wzqel’ 25

135.

136.

137.

(A) fswe

(B) Gy caal
(C) FEaeIi® (A
(D) % CA |
w41 @ oI ZICee! 2o

(A) FEHIPTS e
(B) e
(C) cow

(D) PHGR 7 |

Free India Centre Hf® 3tafzz1
a) afefe
(B) #SE
(C). hiers
(D) G |

Indian

FEREA

Independence League E%"

A)  IEARER
(B) Ifeoraby 97
(C) ITH carzs P

(D) @™ (P 7T |

77

134.

135.

Great circle means

(A) Equator

(B) Tropic of Cancer

(C) Tropic of Capricorn
(D) Pole.

Dadra and Nagar Haveli is a

(A) Union Territory
(B) State

(C) District

(D) none of these.

136. The Free India Centre was set up in

(A) Berlin
(B) London
(C) Tokyo
D) Rome.

137. The Indian Independence League was

486001

6001

set up by
(A) Rashbehari Basu

(B) éubhas Ch.andra Bose
(€) Cap-tajn Mohan Singh
none of them.

(D)

[ P.T.O.



138. Direct Action-99 A =¥
(A) Frrorm (B)

(C) arTer (D)

(S [&2[A0)

(FFLIR 77 |

78

139. C.R. Formula-8 &34 (4
(A) DEAGT ATGIEHGATHIAY
(B) Toeaas wm
(C) =qumIY AP
(D) T (6 7 |
140. "WHNE GG 917 -AF 5911 ZEE
(A) BRG] ASICAIAEAGIA
(B) foeaa v
(C) a1 dpa
(D) ER (G 7 |
141. IQEE SEEA
(A) T
(B) fat
(C) S
(D) CPHER Y |
142, 90 e e EEeN  $eife
2RMRET 7
(A) rzrg
(B) W<
(C) =rEeIRH
(D) ETE @ o |
486001

138. Direct Action was initiated in

139,

140.

141.

142,

(D)

(A) Calcutta

(B) Bombay

(C) Madras

(D) none of these.
C.R. Formula was forwarded by

(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das

(C) Rabindranath Tagore

(D) none of them.

Almar Sonar Bangla was composed by
(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das

(C) Rabindranath Tagore

none of them.

Babur was born in -

(A) Fergana

(B) Delhi

(C) Ajmer

(D) none of these.

Captain Hawkins visited the court of

“(A) Jahangir

(B) Akbar
(C) Shahjahan
(D) None of them.
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143. SICH-GI-5{19] SIRSA (FIVF &L S ? 143. Vasco-da-Gama came to India and
(A) m@ landed at
A) Khozikode
(B) @&RMD A
(B) Gujarat
(C) - ST
(C) Patna
(D) (B2 Y |

(D) none of these.

144. TRFEEE TINN GIE 23

144. Farrukhsiyar’s firman was issued in

(A) sava (B) saxo i (A) 1717 AD. (B) 1720A.D.
(€) savo D (D) saso s | (C) 1730 AD. (D) 1740 A.D.
145. faSHy sfbra <urZ ot 2¥ 145. The Second Charter Act was passed
(A) S50 s i
(A) 1813 A.D.
(B) sSuvds ;s
(B) 1814 A.D.
(C) swvde At
{Cy—1815°A:D:
(D} it (D) none of these.
146. CT 30 o 1l e 146. The last king of the Maurya Dynasty
(A) =M was
(B) SN (A) Brihadratha
(©) TR . (B) Kalashoka

3 (C) Udayin
(D) ™ @C 7 |
(D) None of them.
147. (@ aren fmafd ¢ifza Ao oifafbs 2
147. Who was called Lichchhavi dauhitra ?

ALY DG
A) L (A) Chandragupta I

(B) fadly raed e LS (B) Chandragupta II Vikramaditya
(C) el (C) Samudragupta
(D) “MA (P a4 | (D) None of them.

486001 | 6001 | [ P.T.O.
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148, *=ifa A1 «ifabe @ e foF sEw 148. Sakari was the title earncd.by
(A) oAU FEE . (A) Chandragupta 1
(B) fadx vuae ewfre (B) Chandragupta Il Vikramaditya
(C) STwes ; (C) Samudragupta

(D) GF (P 9 | (D) None of them.

149. W32 2% 1591 SEH 149. The Aihole Prasasti was composed by
(A) fadfe (A) Ravikirti
(B) C-;“-ﬂgﬁ’foi@ Ao (B) Gautamiputra Satakarni
(C) IFe@ opd _ (C) Vasisthaputra Pulamayi

(D) T FC 77 | (D) None of them.

150. faor S TS SEE 150. Pulakeshin II defeated
(A) W@@‘ anfi (A) Chandragupta Maurya
(B) Z¥LT (B) Harshavardhan
(C) Tew FTeh (C) Nagabhatta II

(D) TR &8 79 | (D) None of them.

486001 _ 6001
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PG FCST &)
SPACE FOR ROUGH WORK
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LAYl FITEH S+)
SPACE FOR ROUGH WORK
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fatd= / wsTRUCTIONS
( APHEIICT ATH 8 SN F% / Read carefully and comply )
@%¥* / IMPORTANT

il curtrel YI1E @ s AR Sta WICHT #16 (AW W) BARseebace f (e |
At the time of verification of candidature the candidate should submit his/her Admit Card [including candidate's
gnglrt}om to the Invigilator.

1068 8 o1 Wy — ween, B, &R, o, ofem, Tewrd, come @t B acere o 30 T e a) sdwdie W

In Section-1l, there are 8 languages — Bengali, English, Hindi, Nepali, Oriya, Santhali, Telegu and Urdu. Each language is
having 30 questions. The candidate has to answer 60 questions in all, taking one as First Language having 30 questions and

@ @ @3¢ [ 111(b) - G | oteis Ao 60 B o &g | @ d

Section-lll is divided into twe sections — Section 1li(a} - Mathematics & Science and Section Ill{b) - Social Studies. Each section

E |
The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed place in the OMR Answer Sheet.

FRUPIGT TR %TH 9t OMR TALOMEE TN | (U@ 8, 13 € 14 942 ooTseTa e 1,3 938 4-9 o3 ouiaf o | W e ave

e instructions carefully and fill the details in S1. Nos. 1 to 8, 13 & 14 in the OMR Answer Sheet and SI. Nos. 1,3&4
in the Question Booklet. If you fail to fill the details and 51%11. as instructed correctly, you will be personally responsible for the

erroffuery (NG 84 od1 @t 150 b o w1 erofEl carg fidn efeEr o oErWE BffR wE eroiferl werra i AR

The Question Booklet comprises 8 Aaa,gcs having 150 questions. After being instructed to open the Booklet then only the candidate will
icated ck whether the Boolclet contains 150 questions starting from No. 3 to 80.

All questions are of MCQ (Multiple Choice Question| type. There is only one correct answer to each question carrying one
G A (I SUPTS GF1 AP, AR wSNY 2 A1 | (6 2RI BN (IR HLOT A1 70 A1 el a4t e [1l{a)

In any event of any factual mistake in any question/s, candidates will not be penalized. However no corrections will be made in
question/s during the examination. Section-I and Section Ill{a) and Ill(b) are printed in Bengali and English versions. In case of

(@i 8] B FA00 20 PRI (T oG @ aqre 207 | sl ool (s Fema A1 o wfefie svre oreal g A1)
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off

WY1 A (T RS T IRRER SHS (B | we T

Use of Log tables, Calculator, Slide rule, Mobile phone, Pg‘%u, Digital diary or any other electronic item/instrument etc. is not
ate.

ero{fa®l Gt oMR Seretad Wi WA Raeef o aae ) emefe fent st i A
armmcﬁnﬁwﬁmmﬁhmm%w@mlmmmmmﬂwmmmwmmmm

Question Booklet and OMR Answer Sheet are issued (o the candidale, the candidate must-fill in all the entries in the Question Booklet and OMR
Answer Sheet. The Question Booklet is sealed by a reverse jacket; The idate has 0 tear open the jacket at the indicated place in order to open the
Question Booklet. After opening the Question Booklet the candidate should ensure that any page/question is not missing / not printed / torn |

or and get it replaced iy him.

eI AT A%, (P I, eraefia Fiane A5, caf, fora. s o, G o, ¥Ae RaE, SAWR Ok @at S opf
Candidate should write Roll No., Centre Code, Question Booklet Serial No., Category, Gender, Language-1, Lariguage-11, selected
AT A0 4 b AG TFA A, B, C 99 D Wl firy e w41 wcg) ﬁﬁsﬂwwﬁmﬂ?mzmmmﬁmﬁwmmﬂﬁw

With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to you is correct. Indicate your answer by darkening the a propriate circle completely in the OMR

Ao opmfs : %% | CORRECT | @71 *i%f ; G | WRONG &F1 | WRONG ¥ | WRONG G | WRONG
Correct method : [ YolcKo) Wrong method ; ﬁ@@@ @’@@@ @O0 0O [ NEN N

2.
AT SN 29T S R 30 T oom @3 oy @3 o fedy o w30 B e, i 60 B 2ivaw S e zw)
the other as Second Language having 30 questions as per his/her application form.

3. e b e Ree — e ) - stere
A& A T T AR 53 DA |
is having G0 questions. The candidate has to choose any gne of the sections a per his/her Application Form.

4w S (1 [els OMR S@99a HA AT o0 RN

1
IR F905 931 T IPIE 3% 001 T P00 PR 7 ORI OMR $GEP HITE AR S @B ATy WIewTd e B 16T |
Read all th ¢
consequences arising during scanning of your OMR Answer Sheet.

2. ereffeer R H1e7 oMR Sesvia W i
OMR Answer Sheet No. should be written in the space provided in the Question Booklet,

3.

o e 150 6 ony @ae 1l 3 (4T 80 AR 1 fferen (ew |
open the Question Booklet at the indica lace. C!

4. vaelw omE sefaadln sicoeh 9o Tk fox A w9 11 g Taraw ey @b Wifee wwl g A
mark. There will be no negative marking for wrong answers

5
«98 () TN @ RN AL LA AR | (FA AT SUA9NS SHAGH) AP0 LGN T@IPE pois 7 491 2 |
any factual discrepancy the English Version will prevail.

6 .
from the Question Booklet. No additional paper shall be provided.

7 a5 . FEEET ¥, T, GG, (BB O
(I a2 T AAFACE WA A (A ] A |
allowed. Their use will result in d‘mquahﬁcation of the can

8. o “fETe A WeTH] $E@ OMR TEANT (ral 57 |
OMR Answer Sheet will be provided se%%mtely along with the Question Booklet,

9. 14} e ¥ OMR TEas@ (o
91 (48 g1ef] £/ %1 /A i R | 4 opeffisar e o e, et wewae (b SHSTAbIR S SfFNG T (R
After )
repeated. In case you find any defect anywhere in the Question Booklet, immediately inform the In

10. ‘W%w
A% OMR ©E9Ed g = T |
Subject Group, Date of Exam and his/her Full Signature in the space provided in the OMR Answer Sheet.

11
¥ 1 we1g Fasfl s OMR Taaerca Ao qail sfiar e e ffde o | Bfere aara owy @il SUE 1 A (O 4R T
Answer Sheet corresponding to the question. For marking answers use black ba point pen only.

12, CYCPM 808 G4 ©6q (reuId 11 (P HEpI4 1 5o14 ] |
Once a questign is answered, no co

13.

ction is permitted.
OMR Tgaaiy - A W A S w%w@ﬂm\ﬂ%tommmmwﬁzﬁmﬁwmmm
hrmwﬁmawmmmrmmfmwﬁm}r«m S I8 |

OMR Answer Sheet is designed for computer evaluation, you do not follow the instructions given above and shown in the OMR Answer
Sheet, it may make evaluation by compuler difficult. Any resultant loss to the candidate on the above account shall be of the candidate only,

S 1 A1 a1 e (o I R I e e 3 | o1 Ty 5t o ArwId) ony SR Wk OMR Teacta &ATS!

e 99 Bafefee e (o o amefil s1ds wel e o e

No candidate is allowed (o leave the Examination Hall before the final bell. After cnmﬂ:ﬁm of the examination the candidate should hand
i_wcr IJI':e ?Hllillﬁnswer Sheel along with the Question Booklet to the Invigilator and he/she will take back his/her portion of Admit Card
rom the Invigilator.
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